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GENERAL INSTRUCTIONS TO THE EXAMINEES : E
1)  oftenefi Heluem ST TYA-US W AR Sfar: ford | E

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) utft uga wa feEd E |
All the questions are compulsory.

3) U UH T IW & TE ITR-YEaeht | & fordd |

Write the answer to each question in the given answer-book only.
4) R gt ® Al @ug g, 37 9t & SW s W@ & ford |

For questions having more than one part, the answers to those parts
are to be written together in continuity.

Tl | ey
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5) uWeA-um & B a9 ol wurw # foredt uehr it gt / e / ferdienuma @R w =R
WTHT 6 I99 Rl & TE A |

If there is any error / difference / contradiction in Hindi & English
version of the question paper, the question of Hindi version should be
treated valid.

6) TTA 1 I foTEA & YA U9 1 SHATR AT [ |
Write down the serial number of the question before attempting it.

s -
SECTION - A
1) =gfremed ww - [16 x V2 = 8]
Multiple Choice Questions-
) 19 Uk TR i ToTd 2T THR o Tod o 91U SATYfd ht AT T HITEn H9ag T

HA@IE? [V2]
(37) e FR (@) "WmR
(@) R (8) TR

When an operator is supplied with avalue of incorrect data type then which
exception israised?

(A) Type Error (B) VaueError
(C) Import Error (D) NameError
i) = H | e sata suae 22 [V2]
(31) "m IR (@) v fraea R
(|) o anfe (3) I ash
Which of thefollowing isabuilt-in exception?
(A) NameError (B) ZeroDivisionError
(C) 10 Error (D) All of these
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11) IO farfer o1 Su=m gt @ AT e | forem & foru feren s 2 [V2]
(31) Load () (@) Dump ()
(&) Seek () (@ Tel()
method is used to write the objectsin abinary file.
(A) Load() (B) Dump ()
(C) Seek () (D) Tel()
V) RETEAAE ..o e hl TR AT 2 | [V2]
(37) W - T W — 33 (F) L — T AL — 3=
() o - 3R - 31 (8) SUeH H § 1S T
Stack is a mechanism that implements arrangement.
(A) First-InFirst - Out (B) Last-InLast- Out
(C) Last- InFirst - Out (D) None of these
V)  ufert it JEeTT 3R o7 i SR A o T L 31 L URRRO 13U feRen
WA | [V2]

(a1) Front (%e) iR Rear (Re®)  (3) Rear (R3R) 3R Tail (2=)
(@) Top (2fm) 3ir Bottom (sfew) (3) Bottom (afew) 3R Top (M)

and are used to indicate beginning and end of queue.
(A) Front and Rear (B) Rear and Tail
(C) Top and Bottom (D) Bottom and Top
Vi) g oft veifign fRred g o T 2, et wifeeat L it | [Va]
(31) n (@) n?
= 1 ® n+1
Any algorithm that doesnot have any loop will havetimecomplexityas
(A) n (B) n?
C 1 (D) n+1
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Vil) e, WIS T ShAEg Tt ol @ 3R 39 o | o s 2 | [V2]
(31) e @ (3) fgenend @
(|) T snenfa @ (3) Iwe avfi
search takes a ordered list and dividesit in the middle.
(A) Linear Search (B) Binary Search
(C) Hash Based Search (D) All of these
viii) feu o aet @ e HEAT 2 | [V2]
(37) =gTH (=) wferm
(|) = (8) W ferrem
The average of given valuesis called
(A) Mode (B) Median
(C) Mean (D) Standard deviation
IX) e I T 2T TR FHH & foT0 Tk Hew () B | [V2]
(H) WX (&) SOQL
(|) g foreem (38) wEHd H
IS a container to store data in a computer.
(A) Router (B) SQL
(C) Filesystem (D) Primary Key
X) = d @ S MySQL 1 21 &t TR 22 [V2]
(31) CHAR (n) (&) INT
(m) FLOAT (8) Swre At
Which of the following isdatatypein MySQL?
(A) CHAR (n) (B) INT
(C) FLOAT (D) All of these
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xi) O | wiEE Ao i UER 22 [V2]
(a1) & (LAN) @) #(MAN)
(@) a7 (WAN) (8) Suem |eft

Which of the following isatype of Network?

(A) LAN (B) MAN
(C) WAN (D) All of these

Xii) U AN g AN H TIEA ZHUR T o oI ST R ST STen SRt i
27 [V2]
(31)) HTTP = FTP
(| SMTP () PPP

Which protocol is used to transfer files from one machine to another?

(A) HTTP (B) FTP
(C) SMTP (D) PPP
xiii) fore & & e v e 27 [V]
(37) amRE (@) A
(|) wgaR (3) IR @t

Which of thefollowingisaMaware?
(A) Virus (B) Trojan

(C) Spyware (D) All of these
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xiv) Fe o 9 s aE gathem difgan 22 [V2]

(31) Teaes UeR (=afia W) haet  (F) Hi-UfadTA (THefE) haw
(|@) IAffewe wEeR (8) e O

Which of thefollowing isawired transmission media?

(A) Twisted Pair cable (B) Co-axid cable
(C) Optical Fibre (D) All of these
xv) = ¥ @ weE us Y W 87 [V2]
(31) LENGTH (String) (@) DATE ()
(@) YEAR (date) (3) POWER (Xx,Y)

Which of the following isaMaths Function?

(A) LENGTH (String) (B) DATE()
(C) YEAR (date) (D) POWER (x, )
XVi) 3T t T3E 7 2]
(31) e wiR TgE () T Merhicr TgH
(%) I UeR gE (@) ISEN TR v

What is IP address?
(A) Internet Power Address (B) Internet Protocol Address

(C) Industry Power Address (D) Industry Protocol Address
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2) fem sl S gf Rk - [10 x % = 5]
Fill intheblanks-
) umFwRERRRFEmAEIRETAW ... YT T IS A 2 | [V2]

Vi)

Vi)

viii)

exception is raised when there is an error in the syntax of the
Python Code.

T H Ueh el @ieH o fel ..., eI <Rl SUART LA 2 | [V2]
To open afilein Python function is used.
RDBMS®H QUAM ....covvvveennneennn 2 [V2]

Full Name of RDBMS is

22T % SAfeehan SR =ITaH |l o a9 SR ... et 2 | [V2]
_______isthedifference between maximum and minimum values of data.
.......... AR .. T FHATE! STRIM ¢ S T W FoRT ST £ | [V
and are two basic operations performed on a stack.
LIFO® quam ............. 2l [V2]

Full Name of LIFO is

.......... Teh TR feamed i e # | [V4]
Is an example of storage device

1Kb® ..o foem et € | [V2]

There are bits in 1kb.

<>, EEAB o, Hig # Wietar § | [V2]

<r >, opensthefilein mode

WWW &1 90 9/ .............. 2l [V2]

Full Name of WWW is
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3) aifd STgEE 99 - [8 x1=8]
Very short answer type questions -
i) aToETE o g 2 [1]
What is Exception?
i) oTdeTg weRgAT N BT [1]
What is Catching an exception?
jii)  2orEE wIEe R gt 22 [1]

What is Text file?

V) WhFFAL? [1]
What is Stack?
v) Tl < weid (witen) faflkmt & am fofam | [1]

Write name of any two Sorting methods.

Vi) Tiem e e [1]
What isMean?
vii)  SQL 1 fri 3t 3¢ we & am foiRau | [1]

Write any two Date functionsin SQL.
viii) ot St Jeereh Sl & A feifm | [1]

Write names of any two Network devices?
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SECTION - B

IS T -

Short answer type questions -

4) urmem # Close () fafar & am @ foiRem |
Write about Close () method in Python.

5) T wEE A A9 = HI ¢ 7
What do you understand by binary files?

6) ufed o I3 A Su= fafam |
Write any three uses of queue.

7) @R R A 27
What isForeign Key?

8) a=E & =n H foifau |
Write about Virus.

9) & G T A R?
What is Bubble Sort?

10) SQL # CREATE TABLE ®ewe wt suam fofen |

Write use of CREATE TABLE statement in SQL.

11) MySQL & =g it fiF feg1 e & o @ fefam |

Write about any three string functions of MySQL.

12) HTTP % s # feifRam |
Write about HTTP.

13) Afthera ARV T I 2 |
What isInfix Notation?
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14) wR ek aiesl o 8? [1V5]
What is Star Network Topology?

15) <t (DEQUE) s 22 [1%2]
What is DEQUE?

@ g - |
SECTION - C

eieaia 9 -
Long answer type questions -
16) T W foR ST aTel 31 Gelofd ATRYHI w1 ISTEUT Higd Ui R | [3]
Explain two fundamental operations performed on the stack with example.
FrEr/OR
(P+ Q) » (R —Z) = urfther ARy | =@ |
Convert (P + Q) = (R—Z) into postfix Notation.

17) UetiRen & T AfeeTar &I gl 2 ? 0T hifeu | [3]
What istime complexity of an algorithm? Explain.
rra/OR
YA (TIF) T 3R E9H (Afdem) |ie o st fofan |
Write differences between Selection Sort and Insertion Sort.

18) fFr=feiRaa = awi= Fifse - [1%2 + 1V2 = 3]
) ufreg (ENQUEUE)
i) foufem (DEQUEUE)
Explainfollowings-
i)  ENQUEUE
i) DEQUEUE
FrEr/OR
Frdr (FIFO) uferm st gl & et @ 2 Ui hifu |
How does FIFO describe queue? Explain.
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SECTION - D
e weA -
Essay type questions -
19) Ze@a U s fren it dimm foRau | 4]
Writelimitations of afile systemin Database.
FrerEt/OR
= 1 s Ao - [2+2=4]
) ureHd Fi 3R WA R
i)  udege SR eua

Differentiatefollowing -
I)  Primary Key and Foreign Key
i)  Attributeand Tuple

20) Frafiaa gt ® € Feit acd 20 i TS FH o foTe e @ist it wwot 5 =01 ufkan il |
[15, 4, 27, 20, 31, 9] [4]

Write step by step process of linear searching to find key 20 from the following list -
[15, 4, 27, 20, 31, 9]
FrEr/OR
e 3R fgenamd @ | serewu afga am fik |
Differentiate Linear and Binary search with example.

VVVV
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